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Eg . We saw the first hitting time of an adapted process is a stepping time .

How about the second hitting time ? The billionth ?
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We can combine stopping times to make new ones .

Lemma : If go, son}E ,
are stepping times , then

1
.

at
,
at

,
att ane stopping times .

2
. If Itala, is monotone, then LIE on is a stopping time .



Lemma : If go, E ,
are stepping times , then

1
.

at
,
art

,
ett am stopping times .

2. If stake , is monotone, then Liz on is a stopping time .

Pf . I . Is no s n} = EG Sn} v E t Sh} G Fn . fat Snl = gosh} of OE n} e- Is
.

{ Gtl = n} = On { Gt n
,
G- k} = ¥ { f- k} a { E- n- k} E th .

In SIN the Ktn
2

.

S ' pose Tnt to .

We already know to is measurable .

{Toss n} Iff Eas n Fk .

= E
,

Eonsn) E Fn .

The argument for tattoo is similar 111

Cor : If stake , are stopping times, then so are

Surp tie = fhsinmax 94
, -5kg infer = fdsin min {Obstat .

dims upon - fins.sn#aonlimmfa--fiz.hIfon N


